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How much coverage would Acct 6120 get on a single CPA Exam? May, 1993.
	Chapter 2.  Corporate Organization- Sec. 351


autonumout   (CPAM93#53) Stone, a cash basis taxpayer, incorporated her CPA practice. 
No liabilities were transferred. The following assets were transferred to the corporation:

	Cash (checking account) 
	$ 500

	Computer equipment 
	

	Adjusted basis 
	30,000

	Fair market value 
	34,000

	Cost
	40,000


Immediately after the transfer, Stone owned 100% of the corporation's stock. 
The corporation's total basis for the transferred assets is:

	a.
	$30,000  
	b.
	$30,500
	c.
	$34,500
	d. 
	$40,500


	Chapter 2.  Corporate Capital Structure


	Chapter 3. Corporate Income Tax


autonumout   (CPAM93#41) In the current year, Acorn Inc. had the following items of income and expense:

	Sales

	$500,000

	Cost of sales
	250,000

	Dividends received
	25,000


The dividends were received from a corporation of which Acorn owns 30%. 
In Acorn's corporate income tax return, what amount should be reported as income before special deductions?

	a.
	$525,000
	b.
	$505,000
	c.
	$275,000  
	d.
	$250,000


autonumout   (CPAM93#42) Ace Rentals Inc., an accrual-basis taxpayer, reported rent receivable of $35,000 and $25,000 in its 2004 and 2003 balance sheets, respectively. During 2004, Ace received $50,000 in rent payments and $5,000 in nonrefundable rent deposits. In Ace's 2004 corporate income tax return, what amount should Ace include as rent revenue?

	a.
	$50,000
	b.
	$55,000
	c.
	$60,000
	d.
	$65,000


autonumout   (CPAM93#44) Brown Corp., a calendar-year taxpayer, was organized and actively began operations on July 1, 2005, and incurred the following costs:

	Legal fees to obtain corporate charter 
	$40,000 

	Commission paid to underwriter 
	25,000 

	Other stock issue costs 
	10,000


Brown wishes to amortize its organizational costs over the shortest period allowed for tax purposes. 
In 2005, what amount should Brown deduct for the amortiza​tion of organizational expenses?

	a.
	$8,000  
	b.
	$7,500
	c.
	$4,000
	d.
	$5,000


Note: the 2004 tax act provides for write-off of up to $5,000 (if not phased out) with amortization over 180 months for remaining costs.
autonumout   (CPAM93#45) This year, Garland Corp. contributed $40,000 to a qualified charitable organization. 
Garland's taxable income before the deduction for charitable contributions is $410,000. 
Included in that amount is a $20,000 dividends-received deduction. Garland also had carryover contributions of $5,000 from the prior year. 
In the current year, what amount can Garland deduct as charitable contributions?

	a.
	$40,000  
	b. 
	$41,000
	c.
	$43,000
	d.
	$45,000


autonumout   (CPAM93#46)  In 2005, Cero Corp.'s second year of operation, Cero's book income before federal income taxes was $400,000. Included in that amount were the following items:

	State income tax refunds 
	$10,000

	Amortization of goodwill
	5,000


On its 2004 federal tax return, Cero deducted the payments it made for state income taxes. Cero's policy is to maximize its deductible expenses. What is Cero's 2005 taxable income? 

	a.
	$405,000
	b.
	$400,000
	c.
	$395,000
	d.
	$390,000


autonumout   (CPAM93#47) When a corporation has an unused net capital loss that is carried back or carried forward to another tax year, 

	a.
	It retains its original identity as short-term or long-term.

	b.
	It is treated as a short-term capital loss whether or not it was short-term when sustained.

	c.
	It is treated as a long-term capital loss whether or not it was long-term when sustained.

	d.
	It can be used to offset ordinary income up to the amount of the carryback or carryover. 


autonumout   (CPAM93#48) Soma Corp. had $600,000 in compensation expense for book purposes in 2002. Included in this amount was a $50,000 accrual for 2004 non​-shareholder bonuses. Soma paid the actual 2004 bonus of $60,000 on March 1, 2005. In its 2004 tax return, what amount should Soma deduct as compensation expense?

	a.
	$600,000
	b.
	$610,000
	c.
	$550,000  
	d.
	$540,000


autonumout  (CPAM93#57) If a corporation's tentative minimum tax exceeds the regular tax, the excess amount is

	a.
	Carried back to the first preceding taxable year.
	c.
	Payable in addition to the regular tax.

	b.
	Carried back to the third preceding taxable year.
	d.
	Subtracted from the regular tax.


autonumout   (CPAM93#50) Which of the following tax credits cannot be claimed by a corporation? 

	a.
	Foreign tax credit. 
	b.
	Earned income credit.

	c.
	Alternative fuel production credit
	d.
	General business credit.


27. (CPAM93L#27) Taxes payable under the Federal Unemployment Tax Act (FUTA) are

	a.
	Deductible by the employer as a business expense for federal income tax purposes.

	b.
	Payable by employers for all employees.

	c.
	Withheld from the wages of all covered employees.

	d.
	Calculated as a fixed percentage of all com​pensation paid to an employee

	
	Note: This was a Business Law Question


	Chapter 11. S Corporations


autonumout   (CPAM93#51) Which of the following conditions will prevent a corporation from qualifying as an S Corporation?

	a.
	The corporation has both common and preferred stock.

	b.
	The corporation has one class of stock with different voting rights.

	c.
	One shareholder is an estate.

	d.
	One shareholder is a grantor trust.


	Chapter 5. Penalty Taxes


autonumout   (CPAM93#52) Acme Corp. has two common stockholders. Acme derives all of its income from investments in stocks and securities, and it regularly distributes 51% of its tax​able income as dividends to its stockholders. Acme is a

	a.
	Corporation subject to tax only on income not distributed to stockholders.

	b.
	Corporation subject to the accumulated earn​ings tax.

	c.
	Regulated investment company.

	d.
	Personal holding company.


autonumout   (CPAM93#55) Kari Corp., a manufacturing company, was organized on January 2. 
Its first year federal taxable income was $400,000 and its federal income tax was $100,000. 
What is the maximum amount of accumulated taxable income that may be subject to the accumulated earnings tax for its first year if Kari takes only the minimum accumulated earnings credit?

	a.
	$300,000  
	b. 
	$150,000
	c.
	$ 50,000
	d.
	$0


	Chapter 4. Dividends


autonumout   (CPAM93#59) The following information pertains to Lamb Corp.:

	Accumulated earnings and profits at January 1, 2005
	$ 60,000

	Earnings and profits for the year ended December 31, 2005
	80,000

	Cash distributions to individual stockholders during 2005
	180,000


What is the total amount of distributions taxable as dividend income to Lamb's stockholders in 2005?

	a.
	$180,000  
	b.
	$140,000
	c.
	$ 80,000  
	d.
	$0


	Chapter 6.  Corporate Liquidations


autonumout  (CPAM93#54) What is the usual result to the shareholders of a distribution in complete liquidation of a corporation? 

	a.
	No taxable effect. 
	b.
	Ordinary gain to the extent of cash received.

	c.
	Ordinary gain or loss. 
	d. 
	Capital gain or loss.


	Chapter 7.  Corporate Reorganizations


autonumout   (CPAM93#56) Corporations A and B combine in a qualifying reorganization, and form Corporation C, the only sur​viving corporation. This reorganization is tax-free to the

	
	Shareholders
	
	Corporation

	a.
	Yes
	
	Yes

	b.
	Yes
	
	No

	c.
	No
	
	No

	d.
	No
	
	Yes


	Chapter 8. Affiliated Corporations, Consolidated Returns, etc.


autonumout   (CPAM93#49) Potter Corp. and Sly Corp. file consolidated tax returns. In January 2004, Potter sold land, with a basis of $60,000 and a fair value of $75,000, to Sly for $100,000. Sly sold the land in December 2005 for $125,000. In its 2005 and 2004 tax returns, what amount of gain should be reported for these transac​tions in the consolidated return?

	
	2005
	
	2004

	a.
	$25,000
	
	$40,000

	b.
	$50,000
	
	$0

	c.
	$50,000
	
	$25,000

	d.
	$65,000
	
	$0


autonumout    (CPAM93#43) In the current year, Portal Corp. received $100,000 in dividends from Sal Corp., its 80%-owned subsidiary.  What net amount of dividend income should Portal include in its 2002 consolidated tax return?

	a.
	$100,000
	b.
	$ 80,000
	c.
	$ 70,000  
	d.
	$0


	Tax-Exempt Organizations


autonumout   (CPAM93#58) If an exempt organization is a corporation, the tax on unrelated business taxable income is

	a.
	Computed at corporate income tax rates.
	b.
	Computed at rates applicable to trusts.

	c.
	Credited against the tax on recognized capital gains.
	d.
	Abated.


autonumout   (CPAM93#60) During 2002, Help, Inc., an exempt organization, derived income of $15,000 from conducting bingo games. Conducting bingo games is legal in Help's locality and is confined to exempt organizations in Help's state. Which of the following statements is true regarding this income?

	a.
	The entire $15,000 is subject to tax at a lower rate than the corporate income tax rate.

	b.
	The entire $15,000 is exempt from tax on unrelated business income.

	c.
	Only the first $5,000 is exempt from tax on unrelated business income.

	d.
	Since Help has unrelated business income, Help automatically forfeits its exempt status for 2002.


